FER19F FHREEFr—I—FEEMRF(EFRER)

| E1THAH EfZE =4t HH FE i B 3 {5 FABE A4
1H8H hEEMZEE =it &4t B737-800
18118 hEEMZE =B &dt B737-800
2H10H 24 ERE i ZE — N\ 3y A300-600R
" T/\—fnZe it 51t A330-200
28138 T/\—fZe =it =29 A330-200
2H14H 24 ERE i ZE =Y — A300-600R
28258 =TI 7— = = I MD90
2H278 A=-T7— &3t &k MD90
3H2H A=—_IT7— it &t MD90
4848 hEEMZE = = i B737-800
48118 hEEMZE = = i B737-800
5828 hEEMZE = = i B737-800
5898 hEEMZE = = i B737-800
5816H hEEMZE = = i B737-800
58248 oh E E A ZE - K& B737-700
5H28H oh E E A 22 KE - B737-700
5H30H hEEMZE = = i B737-800
6568 hEEMZE = = i B737-800
6H13H hEEMZE = = i B737-800
6H21H KEEfZE =ZJ11 BEINE A330-200
T, d1-—I7— =E =E MD90
68238 KEEfZE BEMNE =ZJ11 A330-200
6H24H A=I7— &t &t MD90
6H27H hEEMZE = = i B737-800
7H4H hEEMZE = = i B737-800
78118 hEEMZE = = i B737-800
78258 hEEMZE = = i B737-800
818 hEEMZE = = i B737-800
8H22H hEEMZE = = i B737-800
8H29H hEEMZE = = i B737-800
9858 hEEMZE = = i B737-800
9H12H b (= = R A ZE K& K& B737-700
9H16H b [ (= R A ZE K& K& B737-700
98198 hEEMZE =i = B737-800
9H21H KEEfZE =11 =11 A330-300
9H22H KEEfZE =ZJ11 =ZJ11 A330-200
98238 IF) MM =E|9 == B737-800
9H25H KEEfZE =ZJ11 =ZJ11 A330-200
98268 hEEMZE = i = B737-800
98268 KEEfZE =ZJ11 =ZJ11 B737-900
9H28H KEEfZE =ZJ11 =ZJ11 A330-200
9H30H KEEfZE =ZJ11 =ZJ11 A330-200
10A3H IF)MMZE =it =E[f B737-800
10A3H KEEfZE =ZJ11 =ZJ11 A330-200
10A6H KEEfZE =ZJ11 =ZJ11 A330-200
10815H hEEMZE = = i B737-800
10817H hEEMZE = = i B737-800
10818H 1z = =E4 MD90
108218 IUE YR &4d =E4 B737-800
10H21H Az &t =i MD90
108 25H hEEMZE = = i B737-800
108268 hEEMZE =E| =it B737-800
10827H hEEMZE = = i B737-800
108288 IUEYRZE =it =E[f B737-800
108288 LINAH)—fZE s JHARZRE B767-200




| E1THAH EfZE =4t HH FE i B R {5 FABE A4
1182H hEEMZEE = = B737-800
11838 R EEfRZE &t &t B737-800
11848 <L I\ HY)—ZE TERXE TERXE B767-200
118118 hEEMZE =it &dt B737-800
118158 hEEMZE =it & B737-800
118198 hEEMZE =it & B737-800
118238 hEEMZE =it & B737-800
118278 hEEMZE =B & B737-800
118308 hEE Rz B S B737-800




TR0 BRTEFv—I—EEREHRENS)

| E1THH B ZE = 1t HH FE ih S 5 AR

1086H £ HARZH th EB =R s A320

10A8H 2 HARZEH s % H A320
10818H|[HAMZEALZ2—FaF )L N= =2 A300R
108 25H|BRMEA2—FaF )L & fahs MD90
108278 | BARMEA3—FaF)L = % fa ] MD90
10H28H|BHARMZEA2—FaF )L WAFER BERE MD90
108298 | HAMZEAL2—F2aF)L =] = MD90




